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. In institutions also, there 12 a need to
Nuomb er of Question = 55 have in place a system of checks and
Directions for questions 1 to 5: Sentences given balances  which  inhibits  the
in each question, when properly sequenced, form concentration of power in only some
a coherent paragraph. Each sentence iz lahelled individuals.
with a letter. Choose the most logical order of D When human interventions alter this
sentences from among the four gven choices to delicate balance, the outcomes have
conistruct a coherent paragraph. been seen to be disastrous.

a CDABR
1. h. BCAD
A In reecting the functionalism  in c. CABD
positivist organization theory, either d. BDCA
wholly or patially, there 15 often a 3.
tnove towards a political model of & He wvas bode-weary and soul-weary,
organization theory. and found himself muttering, “Either I
B. Thus the analysis would shift to the can’'t vmanage this place, or 1t's
power resources possessed by different untnanageable”
groups in the organization and the way B To his horror, he realized that he had
they use these resources in  actual become the victtm of an amorphous,
power plays to shape the organi sational unwitting, Unconscious conspiracy to
structure. immerse him in routine wotk that had
C. At the extreme, in one set of wntings, no significance.
the growth of administrators in the . It was one of those nights in the office
organization 15 held to be completely when the office clock was mowving
unrelated to the work to be dosieand o towards fowr in the moring and
he cansed totally by the politica Bennis was still not through wath the
pursuit of self- interest. incredible tass of paper stacked
D The politcal model holds  that hefore him.
individual interestt are pursued in D He reached for his calendar and ran his
organisational 1ife thinugh the exercise eves down each hour, haf-hour, and
of power and influehce. quarter-hour, to see where his time had
a ADEC gone that day, the day hefore, the
b, CBAD month before.
c. DBCA a ABCD
d. ABDC h. CADE
2 c. BDCA
& Group decision making, however, does d. DCBA
not necessanly fully guard  against 4.
athitrariness  and  anarchy,  far A With that I swallowed the shampoo,
individud  capriciousness  can get and obtained tnost realistic results
substituted by collusion of group almost on the spot.
members. B. The man shuffled away into the back
B. Nature itself iz an intricate system of regions to make up a prescription, and
checks and bal ances, meant to preserve after a moment I got through on the
the delicate balance between various shop-telephone  to  the Consulate
environmental factors that affect our intimating my location
ecology. C. Then, while the pharmacist was
wrapping up a six- ounce bottle of the
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mizture, [ groaned and inguired
whether he could give me something
for acute gastric cramp.
D. I intended to stage a sharp gastric
attack, and entering an old-fashioned
pharmacy, [ asked for a popular
shampoo mixture, consisting of olive
o1l and flaked soap.
DCBA
DACE
BDAC
BCDA

oo

L

Since then, intelligence tests have heen

tnostly used to separate dull children in

school from average or hright children,
g0 that special education can he
provided to the dull.

B. In other words, intelligence tests give
us anorm for each age.

. Intelligence 13 expressed as
intelligence gquotient, and tests are
developed to indicate what an average
child of a certan age can do - what a
S-year-old can answer, but a 4-yvear-old
cannat, forinstance.

D Binet developed the first set of such

tests in the early 1 900s to find out

which children in  school needed
special attention.

E. Intelligence can be measured by tests.
a CDAEBE
bh. DECAR
c. EDACE
d CBADE

Directions for Q. 6 to 13: Fead each of the short
passages given below and anewer the question that
followes 1t.

.

Three atlin®s - 14 J& and 54 - operate on

the Delhi Mumba route. To increase the

number of geats zold, 54 reduced its fares

and this was emulated by 14 and Ja

immediately. The general belief was that

the wolume of air travel between Delly and

Ilumbat would increase as a remlt.

Which of the following, 1f true, would add

credence to the general belief?

a Increase in profitability of the three
attlines.

h. Extension of the discount scheme to
other routes.

T 31

c. A study that shows that ar travellers in
India are price-conscious.

d. A study that shows that as much as
80% of air travels in India iz company-
sponsored.

According to McMeill, a Brahmin prest

was expected to be able to recite a least

one of the Vedas The practice was
essential for several centuries when the

Vedas had not vet heen wntten down. It

tmust hawve had a szelective effect, since

priestz would hawe been recruited from
those able or willing to memories long
passages. It must hawve helped in the

dizzermination of the “worle since a

memorized passage can he duplicated

tnany tmes.

Which one afthe following can be inferred

from the sbowe passage?

a Reclting the Vedas was a Brahmin's
ohlizatiog

ho The Vedic priest was like a recorded
auiio cassette

oo MeMeill studied the behawiour of
Brahmin priests

d. Vedichymns had not been scripted
Devaluped countries have made adequate
provisions for socal security for senior
citizens. State insurers (as well as private
onies) offer medicare and pension benefits
to people who can no longer earn. In Indig
with the collapse of the joint famuly
systern, the traditional shelter of the
eldetly has disappeared. And a State faced
with a financial crunch 15 not in a position
to provide social security. Bo, it is
adwvizable that the working population give
serious thought to building a financid base
for itself

Which one of the following, if it were to

happen, weakens the conclusion drawn in

the showve passage the most?

a The inwestible income of the worlang
population, as a proportion of its total
income, will grow in the future.

b, The insurance sector 15
underdeveloped and trends indicate
that it will he extensively privatized in
the future.

c. Indiais on a path of development that
will take 1t to a developed country
status, with all its positive and negative
implications.
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d. If the worlang populaton builds a
stronger financia bhasze there will he a
resrival of the joint family systerm.

WVarious studies have shown that our
forested and ally regions, and, in generdl,
areas where biodiversity — as reflected 1n
the wanety of flora — 15 high, are the
places where poverty appears to he high
And these same areas are also the ones
where educational performance seems to
be pootr. Therefore, it tnay be surmised
that, even disregarding poverty status
richness in modiversity goes hand 1n hand
with educational backwardness.

Which one of the following statements, 1if

true, can he said to hest provide supporting

evidence for the surmise mentioned in the
passage?

a In regions where there 15 little variety
i flora, educational perfonmance is
seen to he as good as in regions with
high wanety in flora when poverty
levels are high.

b, Regions which show high biodiveraty
also exhibit  poor  educationa
performance, at low levels of poverty.

t. Regions which show high hiodiveraty
reveal high levels of poverty and poor
educational performance.

d. In regions where there 15 low
biodiversity, at all levels of powerty,
educational performance 15 seen to be
good.

Cigarettes constitute a o omere <20% of

tohacco consumption in India, and fewer

than 15% of the 2000milliasn tobacco users
consume  cigareltes. Vet these  15%
contribute nearly 0% of the tax revenues
to the Excheguer &om the tobacco sector.

The puntiive cigarette taxation regime has

kept the ta% hase narrow, and reducing

taxes will expand this hase.

Which one of the following best bolsters

the conclusion that reducing duties will

expand the tax base?

a The rgarette mannfacturers
association has decided to indulge 1
aggressive profuotiog.

b, There 15 a likelihood tha tobacco
consumers  will shift to  cigarette
smoking 1f cigarette prices were to
reduce,

t. The cigarette manufacturers  are
lohbying for areduction on duties.

11.

12.

Fad 31

d. An increase in duties on non-cgarette
tobacco may lead to a shift in favour of
cigarette smoking.

Thotas Malthus the Brtish clergyman

turned econornist, predicted that the planet

would not be able to support the human
population for long. His explanation was

that human population grows at a

geometric rate, while the food supply

grows otly at an arithmetic rate.

Which one of the following, if true, would

not undermine the thesis offered by

Malthus?

a Population growth can be slowed down
hy the wvoluntary chotees of individual s
and not just hynatiral disasters

h. The capacity ofthe planet to feed a
growing ~lmnan population can bhe
enhanced © thitugh  biotechnological
thedls.

c. WHuman systems and natural systems
like food supply, foll ow natural 1aws of
growth which have remained constant,
and wall rernained unchanged.

d. Human beings can colomes other
planetary systems on aregular and on-
going bhasis to accommodate a growing
population.

The company’s coffee crop for 1998-99

totdled 5079 tonnes, an dl time record.

The increase over the previous yeat's

production of 5830 tonnes was 38.58%%

The previous highest crop was A0R9

tonnes in 1970-71. The company had fized

a target of 2000 tonnes to he realized by

the wear 2000-01, and thiz has heen

achieved two vears eatlier, thanks to the
emphasts lad on the key areas of
irngation, replacement of unproductive
coffee  bushes, intensive refilling  and
improved agricultural practices. It 18 now

our endesvour to reach the target of 10000

tonnes in the year 200102,

Which one of the following would

contribute most to making the target of

10000 tonnes in 2001-02 unrealistic?

a The potential of the productiwty
erhancing measures implemented up
to now has been exhausted.

b, The total compaty land under coffee
has remained constant since 1969 when
an estate 1n the Milgin Hills was
acouired.
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c. The sensifivity of the crop to climatic
factors makes predictions  about
production uncertain,

d. The target-zetting procedures in the
cotnpany hawve been proved to the
sound by the achievement of the 2000
tonnes target.

13, Ammals 1 general are shrewd in
proportion  as  they cultivate  society.
Elephants and heawers show the greatest
signs of this sagacity when they are
together in large numbers, but when man
inwades their communities they lose all
their spirit of industry. Among insects, the
labours of the bee and the ant have
atracted the attention and admiration of
naturalists, hut all their sagacity seems to
be lost upon separation and a single bee or
ant seems destitute of every degree of
industry. It becomes the most stupid 1nsect
imaginahle, and i1t languishes and soon
dies.

Which of the following can he inferred

from the ahowe passage?

a Humanlkind 15 responsible for the
destruction of the natural habitat of
animals and 1nsects.

h. Animals in general, are unahle (to
function  effectively  outside . their
normal social enwirontnent.

c. Maturalists have great admirdton fof
bees and ants, despite their lack of
industry upon separation

d. Elephants and heavers are smarter than
hees and ants in the presence of human
heings.

Directions for Questions 147and 15: For each of
the two queshons. indicate which of the
statements giveri with that particular question 15
consistent  with “the  description  of  the
unseasonahle man in the passage helow.

Unreasonableness 15 a tendency to do socally
pertmssible  things at the wrong time The
unseasonable man 15 the sort of person who comes
to confide in you when vyou are husy. He
serenades his beloved when she 1s ill. He asks a
matt who has just lost money by paying ahill for a
friend to pay abill for him. He inwites a friend to
go for a ride just after the friend has finished a
long car trip. He 15 eager to offer services which
are not wanted but which cannot be politely
refused. If he 15 present at arhitration, he stirs up
dissension hetween the two parties, who were

4ad B3
really atzious to agree. Such 1z the unseasonable
mar.

14. He tends to
a entertan wormnen.
h. he a successful arhitrator  when
dissenting parties are anxious to agree.
c. hehelpful when solicited.
d. tell a long story to people who have
heard it many times hefore.
15. The unseasonable man tends to
a bring a higher bidder to a salesman
who has just closed a deal.
b, disclose confidential information to
others.
c. sing the praises ofithe bride when he
goes to a wedding
d. sleep lateand rize eatly.

Directions for . 16 to 23: In each of the
following sentences, a part of the sentence 1z
underlined. Beneath each sentence, four different
ways of phrasing the underlined part are indicated.
Chobse the best dternative from atmong the four.

14, It was us who had left before he amved.
a we who had left before titme he had
arrived

b. uswho had went before he amved.

c. uswho had went before had arrived

d. we who had left before he arrived.

17. The MP rose up say that, in her opimon
she thought the Women's Eeservation Ball
should he passed on unanitmously.

a rose to say that she thought the
Women's Reservation Bill should be
passed

b, rose up to say that, the Women's
Feservation Ball should be passed on

c. tose to say that, 1n her opinion, she
thought that the Women’s Eeservation
Bill should he passed

d. trose to say that in her opinion, the
Wotnen's Reservation Bill should be
passed on

18, Ir Rilla, the president of the union and
who 13 also a member of the commumty

group, will he in charge of the

negotiations.

a sinee heis a member of the community
group

b, alzo being a member of the commumty
group

c. amemher of the community group
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20,

21,

d. 1n addition, who 15 a member of the
COfMumty group

Since the advent of cable tel evision, at the

heginning of this decade the entertaitrnent

industty took a giant stride forward 1n our

country.
a this decade saw the entertanment
industry taking

h. thiz decade, the entertatnment industry
has taken

o this decade, the entertaintnent industry
had talken

d. this decade, the entertainment industry
took

Hiz mother made great sacrifices to

educate him, mowing house on three

occasions, and gewering the thread on her
loom’s  shuttle  whenever  Mencius

neglected  hiz  lessons  to  make lim

understand the need to persevere,

a sewvenng the thread on her loom’s
shuttle whenewver Mencius neglected
his lessons to make him understand the
need to persevere.

h. sewered the thread on her loom’s
shuttle whenever Mencius neglected
his lessons to make him understand the
need to persevere.

c. severed the thread on her loom's
shuttle whenever Mencius neglected
hiz lezsons to make him understand the
need for persevering,

d. sewenng the thread on her loom’s
shuttle whenever Mencius fieglected
hiz lessons, to male them understand
the need to persetiere.

If vou are on @ three-month software

design project and, i two weeks, you've

put together a proanme that solves part of
the problein show it to your hoss without
delay.

a and, yvou've put together a programme
that solves part of the problem in two
weeks

b, and, in two weeks, vou've put together
a programme that solves part of the
problem

c. and, vou've put together a programme
that has solved part of the problem in
two weelss

d. and, 1n two weeks vou put together a
programme that solved only part of the
problem

Lad 31
22. Many of these enwronmentalists proclam
to save nothing less than the planet itself
a to save nothing lesser than
h. that they are saving nothing lesser than
c. to save nothing lessthan
d. that they save nothing less than
23 Bacon believes that the medica profession
should be permitted to ease and quicken
death where the end would otherwize only
delay for a few days and at the cost of
great pain
a bedeayed for a few days
b, bedelayed for a few days and
c. he otherwize only delayed for a few
days and
d. otherwise only delay for a few days
and

Directions for questions 24 to 50: Each of the
five passages’ given below 15 followed by
questions  Foroeach guestion, choose the hest
ANSWEL

PASSAGE -1

The World Trade Orgamsaton (WTO) was
created in the early 1990z as a component of the
Uruguay Found negotiation Howewer, 1t could
liave heen negotiated as part of the Tokyo Round
of the 1970s, since that negotiation was an attempt
a a ‘constitutional reform” of the General
Agreement on Tanffs and Trade (GATT). Or it
could have been put off to the future, as the U3
government wanted. What factors led to the
creation of the WTO in the early 199057

One factor was the pattern of multilateral
hargaining that developed late in the Uruguay
Found. Like dl complex international agreements,
the WTC was a product of a senes of trade-offs
between principal actors and groups. For the
United States, which did not want a new
organisation, the dispute settlement part of the
WTO package achieved its longstanding goal of a
more effective and more legal dispute settlement
gystern. For the Europeans, who by the 1990z had
come to wiew CATT dispute settlement less in
political terms and more as a regime of legal
ohligations the WTO package was acceptahle as a
means to discipline the resort to umilateral
teasures by the United States. Countries like
Canada and other middle and smaller trading
partners were attracted by the expansion of a
rules-based system and by the symbolic vaue of a
trade organisation, hoth of which inherently
mupport  the weak against the strong. The
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developing countries were attracted due to the
provisions hanning unilateral measures. Finally,
and perhaps most imp ortant, many countries at the
Unguay Found came to put a higher priority on
the export gains than on the import losses that the
negotiation would produce, and they came to
assoctate the WTO and rules- based system with
those gains. This reasomng — replicated 1n many
countries — was contained in U5, Ambassador
Kantor's defence of the WT O, and it amounted to
recognition that international trade and 1ts benefits
cannot be emoved unless trading nations accept
the discipline of a negotated rules-based
environment.

& second factor in the creation of the
WTO was pressure from lawyers and the legal
process. The dispute settlement system of the
WTO was seen as a wictory of legalists over
pragmatists but the matter went deeper than that
The GATT and the WTO are contract
organisations hased on rules, and 1t 13 inevitahle
that an orgamsation created to further miles will 1n
turn he influenced by the legal process. Rohert
Hudec has written of the “momentum of legal
development’, but what 15 this precizsely? Legal
development can be defined as promotion of the
technical legal walues of consistency, clarty (o
certainty) and effectiveness; these are values that
those responsihle for administering any legal
systern will seel to mammize As it played 0ut in
the WTCO, consistency meant integrating unded
one roof the whole lot of separate agieements
signed under GATT auspices; Glanty meant
removing  ambigwties ahout the powers of
contracting parties to make ceftain decisions or to
undertalke  wavers, and Ceffechiveness meant
elitminating exceptions afising out of grandfather-
rights and resolving defectsin dispute settlement
procedures and/ institubiond prowisions Concern
for these walues 1z inherent 1n any rules-hased
system of co-operafidn, since without theze walues
rniles would he meaningless in the first place.
Rules, therefore, create their own incentive for
fulfillment.

The momentum of legal development has
ocourred 1n other institutions hesdes the GATT,
most notahly in the European Union (EUN. Owver
the past two decades the European Court of
Justice (ECJ) has consistently rendered decsions
that have expanded incrementally the EU's
interna market, 1 which the doctrine of ‘mutual
recognition’ handed down in the case Casas de
Don in 1979 was a key turning point. The Court 13
now widely recognized as a major player in

dhad 31
European integration, even though arguably such
a strong role was not onginally enwisaged in the
Treaty of Rome which itmitiated the current
European Union. One means the Court used to
exzpand integration was the “teleclogical method
of interpretation’, whereby the actions of member
states were evaluated aganst ‘the accomplishment
of the most elementary community goals set forth
in the Preamble to the [Rome] treaty”. The
theological method represents an effort to keep
current policies conststent with stated goals, and 1t
1z analogous to the effort in GATT to keep
contracting party trade practices consistent wath
stated rules. In hoth cases legal concemns and
procedures are an independent force for further
co-of eration.

In large part the WTO was an exercise in
consolidation. In thecontext of atrade negotiation
that created a near- revolubionary expansion of
wnternationals tfade rigles, the formation of the
WTO was a deeply conservative act needed to
ensure that the benefits of the new rules would not
be lost. The WTO was all abhout institutional
structure, and dispute settletnent: these are the
concerns of conservatives and not revolutionaries,
which 15 why lawyers and legalists took the lead
ot vthese 1ssues. The WTO codified the GATT
institutional practice that had developed hy
custorn over three decades, and it ihcorporated a
new dispute settlement systern that was necessary
to keep both old and new rules from becoming a
shan. Both the international structure and the
dispute  settlement system were necessary to
preserve  and  enhance the integrity of the
multilateral trade regime that had heen bhuilt
incrementally from the 19408 to the 19903,

24 What could be the dosest reason why the
WTQ) was not formed in the 197057
a The U5 government did not like it
h. Important players did not find it in
their best interest to do so.
c. Lawyers did not work for the dispute
settlement system.
d. The Tokyo Eound negotiabon was an
atternpt at constitutional reform.
25 The most likely reason for the acceptance
of the WTO package hy nati ons was that
a it had the means to prevent the US
from taking vnilateral measures
b, they recogmzed the need for a rule-
based enwironment to protect the
henefits of increased trade.
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28,

29.

c. 1t settles disputes more legally and
more effectively.

d. itz rule-hased system leads to export
gains.

According to the passage, WTO promoted

the technical legal values partly through

a integrating  under one  roof  the
agreements signed under GATT.

b, rules that create their own incentive for
fulfill ment.

o grandfather-rights  exceptions  and

defects: 1 dispute  settlement
procedures.

d. ambiguwties shout the powers of
contracting parties to make certain

decisions.

In the method of interpretation of the

European Court of Justice,

a current policies needed to be consistent
with stated goals.

h. contracting party  trade  practices
needed to be consistent with stated
riles.

o enunciation of the most elementary
cotnmunity  goals needed to he
emphasised.

d. actions of member states needed to he
evaluated against the stated community
goals.

In the statement “. it amounted . to

recognition that international trade and 162

benefits cannot be emoved unless trading

nations  accept the _discipliie of a

negotiated rule-hased efsronment” ‘it

refers to:

a Ambassador Eantor'sodefence of the
WO,

b, The higher prictity on export gains
placed by many countries at  the
Urugiay Found.

c. The exp@it gains many countries came
to associate with arile-based system.

d. The prowsion of a rule-based system
by the WTC.

The importance of Cassis de Dyjon s that

it

a gave a new impetus to the momentum
of legal dewvelopment at the European
Coutt of Justice.

b resulted in a dedsion that expanded
incrementally  the EUs  internal
market.

c. strengthened the role of the Court more
than envisaged in the Treaty of Rome.

d. led to a doctrine that was a key turning
point in European integration.

PASSAGE - I1

Have you ever come actoss apanting by Picasso,
Mondrian, Miro, or any other modern abstract
painter of this century, and found vourself
engulfed in a brightly coloured canvas which your
senzes cannot interpret? Many people would tend
to denounce abstractiomsmn as senseless trash
These people are disoriented by Miro’s brnght,
fanciful creatures and two-dimensional canwvases.
They click their tongues and shake ther heads at
Mondrian's gnd works, declanng the poor guy
played too many scrahhle games They silently
shake their heads in sympathy for Picasso, whose
gruesome, distorted figures toust be areflection of
his menta hedth. Then sanding in front of a
work by Charlie Russell, the famous Western
artist, they 'l declare 10a work of God. People feel
more comfortable with something they can rel ate
to and urderstand immediately wathout too much
thought. Thizis the case with the work of Charlie
Fuséell Being able to recognize the elements in
ks paintings — trees, horses and cowboys—gives
people a safety line to their world of “redity™,
There are some who would disagree when [ say
dnstract art requires more creatiwnty and artist
tdent to produce a good piece than  does
representational  art,  but  there  are  many
wealmesses in their arguments.

Feople who look down on abstract art have
several major arguments to support their beliefs.
They feel that artists turn ahstract because they are
not capahle of the technica drafting skills that
appear in a Russell, therefore, such artists create
an at form that anyone 15 capable of and that 1s
less time consuming, and then parade it as artistic
progress. Secondly, they feel that the purpose of
art 15 to create something of beauty 1n an ordetly,
logical composition Russell’s compositions are
halanced and rational: everything sits calmly on
the canwvas, leaving the wiewer satisfied that he has
seen all there iz to see. The modem abstractionists,
o the other hand, seem to compose their pieces
irrationally. For example, upon seeing Picasso’s
Cuernica, a friend of mine asked me, “What's the
point?™ Finaly, many people feel that art should
pottray the ideal and real. The exactness of detal
it Chatlie Russzell’s wotk 1z an example of this
He has been caled a great historian becanse lus
pieces depict the life style, dress, and events of the
times. His subject matter 15 denved from his own
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expeniences on the trail, and reproduced to the
smallest detal.

[ agree in pat with many of these
arguments, and at one time even endorsed them.
But now, I believe differently. Firstly [ object to
the argument that abstract artists are not capable
of drafting. Many abstract artists, such as Picasso,
ae excellent draftsmen. As hs work matured,
Ficasso became more abstract in order to increase
the expressive quality of hiz work, Guemnica was
tneatt as a protest against the bombing of that aty
by the Cenmans. To express the terror and
suffering of the wictims more vividly, he distorted
the figures and presented them in a hlack and
white journalistic manner. If he had used
representational itnages and colour, much of the
emotional content would have been lost and the
piece would not have cavsed the demand for
justice that it did. Secondly, I do not think that a
pece must be logical and aesthetically pleasing to
he art. The message it conveys to its viewers is
more important It should reflect the 1deals and
izsues of its time and be true to itzelf not qust a
Howery, glossy surface. For example through his
worly, Mondrian was trying to present a system of
simplicity, logic, and rational order. As a result,
hiz pieces did end up looking like a scrabhble
hoard.

Miro created powerful, surrealistic images
from his dreams and subconscious. These artists
were frying to evoke a response from society
through an  expressionistic  manner.  Finally,
ghstract  artists  and  representafional artists
maintain different ideas shout ‘reality’ To the
representational artist, reality 12 wheat he sees wath
hiz eyes. This is the redity hedeproduces on
canvas. To the abstract ‘artist, reality 15 what he
feels about what his eves seerThis 13 the reality he
interprets on canvas. Thie can be illustrated by
Mondrian's Trees series. You can actually see the
progression from the early recognizahle, though
ghstracted, Trees, to his final solution, the gnd
gy atetn.

& cycle of abstract and representational art
began with the first scratching of prehastonic man.
From the ahstractions of ancient Egypt to
representational, classical Rome, returning  to-
ghstractionism in early Christian art and so on up
to the present day, the cycle has been going on.
But thiz day and age tnay witness its death
through the camera. With film, there 15 no need to
produce  finely  detaled, lustorical  records
matmally; the camera does thiz for us more
efficiently. Mayhe representational art would

Bad 31
cease to exst. With abstrach onism as the victor of
the first hattle, may he a different land of cyde
will be touched off Possihly, zome time in the
distant future, thousands of years from now, art
itzel f will be physically nonexistent. Sotne arfists
today believe that once they have planned and
constructed apiecein their mind, thereisno sense
in finishing it with their hands; 1t has already heen
done and can never he duplicated.

0. The author argues that many people look
down upon abstract art because they feel
that;

a Modemn abstract art does not portray
what 15 idea and real.

b, Abstract arti stz are unskalled in matters
of technical drafilng

c. Abstractiofists compose irrationally

d. Al of the ahowe

31, The<author believes that people feel
commfortable © with  representational — art
hecanse:

a othey are not engulfed in hrightly
coloured canwvases.

b, they do not have to click therr tongues
and shake ther heads in sympathy.

c. they understand the art without puthing
too tnuch strain on their minds.

d. pantings like Guernica do not have a
point.

32, In the authot’s opitdon, Picasso’s Guernica
created a strong demand forjustice since
a 1t was a protest aganst the German

homhbing of Guernica.

h. Picasso tnanaged to
emotiona  content  well
abstract depiction.

c. 1t depicts the terror and suffering of the
victimsin a distorted manner.

d. 1t was a mature work of Picasso’s,
panted when the artist’s drafting skills
were excellent.

33, The author acknowledges that Mondnan's
pieces may have ended up looking like a
scrabble board becanse
a many people declared the poor guy

played too many scrabhle games.

h. Iondran helieved in the ‘grid-works’
approach to ahstracti onist painting.

c. Mondrian was trying to convey the
message of sumpliaty and rational
order.

d. Mondran learned from his Trees senes
to evolwe a grid system.

express  the
with  his
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34, The man difference between the abstract
artist and the representational artist 1n
matters of the “ideal” and the ‘real’,
according to the author, 18
a How each chooses to dead wath
‘reality” on his or her canvas.

b. The supenonty of interpretation of
reality over reproduction of reality.

c. The different wvalues attached by each
to heing a historian.

d. The vaying levels of drafing dalls
and logical thinking abilities.

PASSAGE III

Each one has his reasons: for one art 13 a flight;
for another, a means of conguering. But one can
flee into a hermitage, into madness into death.
One can congquer by artns. Why does it have to be
writing, why does one have to manage his escapes
and conguests by writing? Because, behind the
varios ams of authors, there 1z a deeper and
more immediate choice which 1s common to &l of
us. We shall try to elucidate this choice, and we
shall see whether it 15 not in the name of this very
choice of wniting that the engagement of wrters
must be required.

Each of our perceptions 1z accompanied hy
the consciousness that human reality 13/ a
‘revealer’, that s it 15 through human reality that
‘there 15" being, of, to put it differently, that man
1z the means by which things are manifesfed, It 12
our presence in the world which multplies
relations. It 15 we who set up 4 relationship
hetween this tree and that hit of sy, Thaiks to us,
that star which has been dead for tnillenma, that
gquarter moot, and that darlonverare disclosed in
the unity of alandscape This the speed of our auto
and our atrplane which orgatizes the great masses
of the eath. With eachdf owr acts, the world
reveals to us a new face. But, if we know that we
are directors of heffio, we also know that we are
not itz producers. If we tumn away from this
landscape, 1t wall sink back into its  dark
permanence. At least, it will sink back; there 1z no
one mad enough to think that it 15 going to be
anmhilated. It 15 we who shal be annihilated, and
the earth will remain in its lethargy until another
consciousness comes dlong to awaken it Thus, to
our inner cettainty of being ‘revealers” 15 added
that of being inessential in relation to the thing
revealed.

One of the chief motves of artistic
creation 15 certainly the need of feeling that we are
essential in relationship to the world If I fix on

Bad 31
canvas of i writing a certan aspect of the fields
or the sea or a look on someone’s face which [
hawve dizsclosed, I am conscious of hawving
produced them by condensing relationships, hy
introducing  order where there was none by
imposing the unity of mind on the diversty of
things. That 15, [ think myself essential 1n relation
to my creation. But this time it 15 the created
ohject which escapes me; I can not reveal and
produce at the same time. The creation bhecomes
inessential in relation to the creative activity. First
of all, even 1f 1t appears to others as defimtive, the
created object dways seems to us 1o a state of
suspension; we can always change thiz, line that
shade, that word. Thus, it never forces itszelf A
novice panter asked hiz teacher, “When should I
consider my painting finished? And the teacher
answers, “When yvowcan look o it in amazement
and say to yourself* I'm the one who did that!™

Whith amounteto saying ‘never’? For itis
wirtually Gonsidenng one’s work with someone
else’s eyes ahd révealing what has heen created.
But 1t.1s self'evident that we are proportionally
lesstconiacions of the thing produced and more
sonscious of our productive activity. When 1t 13 a
matter of poetry or carpentry, we work according
to traditional norms, with tools whose usage is
todified; it 1z Hadegger's famous ‘they” who are
wotlang with our hands In this case, the result
can seem to us sufficiently strange to preserve its
objectivity in our eyes. But if we ourselves
produce the rules of production, the measures, the
critenia, and if our creative dnve comes from the
very depths of our heart, then we never find
anything hut ourselves in our worke It 15 we how
have invented the laws by which we judge it It 1z
our history, our love, our gatety that we recognize
i it. Even 1f we should regard it wathout touching
it any further, we never receive from it that gaiety
or lowe. We put them into it. The results which we
hawve ohtained on canvas or paper never seem to us
ohjective. We are too farniliar with the processes
of which they are the effects. These processes
remain a subjective discovery; they are ourselves
our inspiration, our ruse, and when we seek to
perceive our worl, we create 1t again, we repeat
mentally the operations which produced it; each of
itz aspects appears as a result Thus, in the
perception, the object 13 given as the essential
thing and the subject as the inessential. The latter
seeks essentiality in the creation and obtains it, but
then it 15 the oby ect which becomes the inessential.

The dialectic 15 nowhere more apparent
that in the art of writing, for the literary ohject 1z
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a peculiar top which exists only in movement. To
make it come into view a concrete act called
reading 18 necessary, and it lasts only as long as
thiz act can last. Beyond that, there are only hlack
tnatlks on paper. Now, the writer can not read what
he wntes, whereas the shoemaker can put on the
shoes he has just made if they are to hiz sze, and
the architect can live 1n the house he has built. In
reading, one foresees; one wats He foresees the
end of the sentence, the following sentence, the
next page. He wats for them to confinm or
disappoint his foresights. The reading 15 composed
of a host of hypotheses, followed by awakemngs,
of hopes and deceptions. Readers are always
ghead of the sentence they are reading in a merely
probahle future which partly collapses and partly
comes together in proportion as they progress
which wathdraws from one page to the next and
forms the moving honzon of the literary object.
Without wating, wathout a future, without
ignorance, there 1z no ohjectvity.

35 The author holds that:

a There 15 an objective reality and a
subjective reality

b, Mature 1z the sum total of disparate
elements

c. It 1z human action that reveals the
various facets of nature

d. Apparently disconnected elements in
nature are unified i a fondamentd
sense

36, It 15 the author’s contention thats

a Artistic creations are results of human
CONSCI0UENESS

h. The very act of artistic’ creation leads
to the escape of the ereated object.

c. Man can ‘produce and reveal at the
same’ tme,

d. An actof creation forces itself on our
consciodshess  leawing us Al of
atnazetnent.

7. The passage makes a distinction between
perception and creation in terms of

a Objectivity and subjectivity.

b. ERevelation and action.

t. Ohjective reality and perceived reality.

d. Essentiality and non-essentiality  of
oby ects and subjects.

38 The art of writing manifests the dialectic
of perception and creation because

a reading reveals the wnting till the act
of reading lasts.

Hiaf 31

b, wnting to be meaningful needs the
concrete act of reading.

c. this artis anticipated and progresses on
a series of hypotheses.

d. this literaty object has a moving
horizon brought about by the very act
of creation.

39, Aowrnter, as an artist

a reveals the essentiality of revelation

b, makesus feel essential wis-d-wis nature

c. creates reality

d. reveals nature in its permanence

PASSAGE -1V

Since World War IL the nahon-state has heen
regarded with approval by every political system
and every ideology. In the name of moderization
i1 the West, of socialiem in the Eastern bloc, and
of development i the” Third World, 1t was
expected to Gudrantee the happness of indiwnduals
as otzensanc of peoples as societies. However,
the state today appears to have hroken down in
many parts ofthe world. It has faled to ouarantee
githér securtty or social justice, and has been
unahle to prevent either international wars or civil
wars. Disturbed by the daims of communities
within 1t, the nation-state tnes to repress their
demands and to proclam itself as the only
guarantor of security of all. In the name of
national unity, territorial integnty, equality of all
its citizens and non-patizan secularismn, the state
can use its powerful resources to reect the
demands of the communities; 1t may even go so
far as genocide to ensure that order prevail s

Az one ohserwes the awakening of
communities in different part of the world, one
cantiot ignore the context in which identity issues”
arise. It 15 no longer a context of sealed frontiers
and 1solated regions but1s one of integrated global
grstems. In a reaction to this trend towards
globalization, individuals  and  comrunities
everywhere are voicing their desire to exist, to use
their power of creation and to play an active partt
in natonal and international life.

There are two ways in which the current
upsurge 1n demands for the recogmition of
identities can he looked at. On the positive side
the efforts by certain population groups to assert
their identity can be regarded as “liberation
movements”,  challenging  oppression  and
iqustice. What these groups are doing -
proclaming that they are different, rediscovenng
the roots of their culture or strengthemng group
solidarity - may accordingly he seen as legitimate
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atempts to escape from their state of subjugation
and enjoy a certain measure of dignity. Cn the
downside, howewer, militant action for recognition
tends to make =mich groups tmore  deeply
entrenched in their atitude and to make their
cultural compartments even more watertight. The
assertion of identity then starts turning into self-
ahsorption and 1solation, and 1z liable to slide into
intolerance of others and towards ideas of “ethnic
dleansing”, zenophohia and wviolence.

Whereas confinuous variabons among
people prevent drawing of dear dividing lines
between the groups, those nulitating  for
recognition of their group’s identity arhitranly
choose a limited number of critena such as
religion, language, skin colour, and place of ongin
so that their memhbers recognise themselves
primarily in terms of the labels attached to the
group whose exstence 15 being asserted. This
distinction between the group in question and
other groups 1s estahlished by simplil’ing the
feature zelected. Simplification dlso works by
transforming groups into essences, shstractions
endowed with “the capacity to retnain unchanged
through time. In some cases, people actualy act as
though the group has remained unchanged and
talke for example, ahout the history of nations and
communities as if these entities survived for
centuries without changing, with the same ways of
acting and thinking the same desires ansiebies,
and aspirations.

Paradozcally, precisely because adentity
represents a simplil'ing fction, oréating uniform
groups out of disparate peopls, that identity
performs a cognitive function. (Tt enshles us to put
nammes to ourselves and oth@rs, fosn some 1dea of
who we are and who othiers are, and ascertan the
place we occupy. along with the, others in the
world and society. The Current upsurge to assert
the identity of grotups can thus he partly explaned
hy the cogmtive fdfiction performed by identity.
Howewer, that said, people would not go along as
they do, often in large numbers with the
propositions put to them, in spite of the sacrifices
they entail, 1f there was not a very strong feeling
of need for 1dentity, a need to take stock of things
and know “who we are”, “where we come from”,
and “where we are going.”

Identity 15 thus a necessty in a constantly
changing wortld, but it can also be a potent source
of wiolence and disruption. How can these two
contradictory aspects of identity be reconoled?
First, we must hear the arhitrary nature of 1dentity
categories in mind, not with aview to eliminating

Pted B3
dl forms of identification - which would be
unrealistic since identity 13 a cognitive necessity -
hut simply to remind ourselves that each of us has
several identities at the same time. Second, since
tears of nostalgia are being shed over the past, we
recognise that culture 15 constantly being recreated
by cobbling together fresh and onginal elements
and counter- cultures. There 15 10 our own country
as large number of syncretism cults wherein
modern elements are blended wath traditional
values or people of different communities
venerate sants or divimties of particular faths.
Such cults and movetments are charactenized by a
continual inflow and outflow of members which
prevent them from taking on'a self- perpetuating
existence of their own and hold out hope for the
futare, indeed, pethaps for the only possihle
future. Finally, the sisfion.state must respond to
the identity urges ofits Constituent communities
and to their legitimate quest for secunty and socal
justice. Ittaust do so by inventing what the French
philozophier “and” sociologist, Raymond  Aron
called “peace through law”. That would quarantee
justice bmth to the state as 1 whole and its parts,
and vespect the claims of both reason and
emotions. The problem is one of reconciling
nattonalist  demands wath the exercse of
democracy.

400 According to the avthor, happiness of
individuals was expected to be guaranteed
in the name of
a Development in the Third World
b, Socialism in the Third World.

c. Development in the West.

d. Modernization in the Eastern Bloc.

41, Demands for recognition of 1dentities can
he wewed:

a Postively and negatively

b, As liberation movements and mulitant
action.

c. Ag effort to rediscowver cultural roots
which can slide towards intolerance of
others.

d. All ofthe abhove.

42 Going by the author’s exposition of the
nature of identity, which of the foll owing
staternents is untrue?

a Identity represents creating uniform
groups of disparate people

b, Identity 15 a necessity in the changing
world,

c. Identity 1z a cognitive necessity,

d. Mone of the above.
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43 According to the author, the nation-state
a has fulfilled its potential
h. 1z willing to do anything to preserve
order.
o generates secunity for all its ctizens,
d. has been a major force in Preventing
civil and international wars.
44 Which of the following wews of the
nation-state cannot be attributed to the

anthor?

a It has not guaranteed peace and
securty.

b. It may go as far as genocide for self-
preservation.

c. It represents  the demands  of
cormnuniti es within it.

d. It iz vnahle to prevent international
wars.

PASSAGE -V

The persistent patterns in the way nations fight
reflect thewr cultural and histonical traditions and
deeply rooted attitudes that collectively malke up
their strategic culture. These patterns provide
insights that go beyond what can be learnt just by
comparing  armaments and  divisions. In the
Vietnam War, the strategic tradition of the United
States called for forcing the enemy to fight a
massed hattle in an open area, where supenor
American weapons would preval The United
States was trying to re-fight World Warddl in the
jungles of Southeast Asia against an enemy with
no intention of doing so.

Some British rilitary historien describes
the Asan way ofwar as oneof indirect attacks,
avoiding frontal attacks m@ant tofoverpower an
opponent. These traces Back tooAsian history and
geography: the great distatiees and harsh terrain
have often madé it dufficull to execute the sort of
open field clashes allowed by the flat terrain and
relatively compact™ size of Europe A wvery
different strategic tradition arosein Asia

The bow and arrow were metaphors for an
Eastern way of war. By its nature, the arrow 13 an
indirect weapon. Fired fom a  distance of
hundreds of vards, it does not necessitate
immediate physical contact with the enemy. Thus,
it can he fired from hidden positions. When fired
from behind a ridge, the barrage seems to cotne
out of nowhere, taling the enemy by surprize. The
tradition of this kund of fighting 15 captured 1n the
classical strategic writings of the East. The 2,000
yvears’ worth of Chinese wntngs on  war
constitutes the most subtle writings on the subject

Pred B
i any language Mot untl Clausewitz, did the
West produce a strategic theonst to match the
sophistication of Sun-tzn, whose Art of War was
written 2 300 vears earlier.

In Sun-tz and other Clinese writings, the
highest achievement of arms 15 to defeat an
adversary without fighting. He wrote: “To win
one hundred victonies 1n one hundred battles 15 not
the acme of slall. To subdue the enemy without
fighting 15 the supreme excellence” Actual
cotnbat 13 just one among many tmeans towards
the goal of subduing an adversary. War contains
too tnany surprises to be a first resort. It can lead
to ruinous losses, as has been seen time and again,
It can have the unwanted effeCt ofinspinng heroic
efforts in an enemy, as the United States leamned
in Vietham, and as the Japanese found out after
Fear] Hatbour

Aware of the uncertainties of a mulitary
campaign, Supitzl advocated war only after the
most thorough preparations. Even then 1t should
he gquick and clean. Ideally, the army 15 just an
instrment to) deal the final hlow to an enemy
dredady weakened by 1zolation, poor morale, and
disutity. Ewver since Sun-tzu, the Chinese hawve
heen seen as masters of subtlety who take
measured achons to mampulate an adversary
wathout hiz knowledge. The dividing line hetween
war and peace can be ohscure. Low level wiolence
often 1z the backdrop to a larger strategic
campaign The unwithing wictitn, focuszed on the
day- to-day events, never realizes what's
happening to him until 1tz too late. History holds
many examples. The Viet Cong lured French and
115 infantry deep into the jungle, weakening their
moral e over several yvears The mohile army of the
United States was designed to fight on the plains
of Europe, where 1t could quickly towve
unhindered from one spot to the next. The jungle
did more than make quick movement 1mpossihle;
broken down into smaller units and scattered in
izolated bhases, forces were deprived of the feeling
of support and protection tha ordinanly comes
from being part of abig army.

The izolation of T3 troops in Vietham
was not just a logistical detal, something that
could he owvercome by, for instance, bringing in
reinforcements by helicopter. In a hig army
reinforcements are readily  avalable It was
Mapoleon who realized the extraordinary effects
onn morae that come from being part of a larger
formation. Just the knowledge of 1t lowers the
soldier’s fear and increases his aggressiveness. In
the jungle and on isolated hases this feeling was
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removed. The thick vegetaton slowed down the
reinforcements and made 1t difficult to find
stranded units. Soldiers felt they were on their
OWHL.

More impottant, by altening the way the
war was fought, the Viet Cong stripped the United
States of its belief in the inevitablity of wictory, as
it had done to the French before them: Morale was
high when these armies first went to Vietnam.
Only after many wvears” of dehilitaing and
demmoralizing  fighting did Hanoi launch  its
decisive attacks, at Dienbienphu in 1954 and
against Saigon in 1975 ft should be recalled that
in the final push to wictory the North Viethamese
ghandoned  their  jungle  guernlla  tactics
completely, committing their entire army  of
twenty divisions to pushing the South Vietnamese
into collapse This final battle, with the enemny’ s
artny all in one place, was the one that the United
States had desperately wanted to fight in 1965,
When it did come out into the open in 1975,
Washington had already withdrawn its forces and
there was no possihility ofre-intervention.

The Japatiese early in World War [T used a
modern form of the indirect attack, one that relied
on stealth and surprise for its effect At Peal
Harhour, 1n the Philippines, and in Southeast Asia
stealth and surprize were attained by saling under
radin slence so that the navy’s mowvements could
not be tracked. Mowving troops aboard ships into
Southeast Asia made it appear that the Japanese
artny was also “invisible” Attacks against Hawan
and Singapore seemed, to the Amencan and
British defenders, to come fom oowhere In
Indonesia and the Philippines the Japanese attack
was even faster than the “Germnan hlitz agatnst
France in the West.

The greatest . military  surpnses  in
Amencan history have dl been in Asia Surely
there 1z somethifiz going on here heyond the
purely technical difficulties of detecting enemy
movements.  Pearl Harbouwr, the Chinese
intervention in Korea, and the Tet offenszive in
Vietnam all came out of atradition of surprise and
stealth. 1.3, technical intelligence - the location of
enemy units and their movements - was greatly
improved after each surprise, but with no
noticeahle improvement in the Amencan ahility to
foresee or prepare what would happen next. There
1z a cultural divide here not just a technical one.
Ewven when it was possible to track an army with
intelligence  satellites, as when Irag invaded
Kuwait or when Syria and Egypt attacked Israel,
surprise was achiewed. The United States was

E5ad 51
stunned by Iragq’s attack on Euwat even though it
had zatellite pictures of Iragi troop s massing at the
horder. The exception that proves the point that
cultural  differences  obscure  the  West's
understanding of Asian behaviour was the Sowiet
Union’s 1979 invasion of Afghanistan. This was
fully anticipated and understood 1n advance. There
was no  surprise because the United States
understood Moscow's world wew and thinking. It
could anticipate Sowiet action altost as well as
the Sowets themselves, hecanse the Sowviet Union
was really a Western country.

The difference between the Eastern and
the Western way of war 1z stnking The West's
great strategic wnter, Clanzewilzs linked war to
politics, as did Sun-tzu Bothowere opponents of
tilitarism, of turming war aver to the generals.
But there all sirrilariby ends Clausewitz wrote
that the way to achietve alarger political purpose
1z through desttuchion of the enemy’ s anmny. After
ohserving Mapoleon congquer Europe by smashing
enemy arfnieato bits, Clansewitz made his famous
remarls 1, On War (19320 that combat 1z the
contitmation of poliics by wiolent means. Morde
and unity are important, but they should be
harnessed for the ultimate battle. If the Eastern
way of war 15 embodied by the stealthy archer, the
thetaphonical  Western  counterpart 13 the
swordsman charging forward, seeking a decisive
showdown, eager to admitister the blow that wall
obliterate the enetny once and for all. In this view
war proceeds along a fized course and occupies a
finte extent of time, like a play in three acts with
a beginning, middle and an end The end, the
final scene, decides the 1ssue for good

When things don't work out quite this
way, the Western mmuilitary mind feels tremendous
frustration. Sun-tzu’s great disciples, Man Zedong
and Ho Chi Minh, are respected in Asia for their
clever use of indirection and deception to achieve
an advantage over stronger adversaries. But in the
West their approach 1s seen as underhand and
devious. To the Amernican strategic mind, the Viet
Cong guertilla did not fight fairly. He should have
come out into the open and fought like a man
instead of hiding in the jungle and sneaking
around like a cat in the night

45, According to the authot, the main reason
for the 1.8, losing the Vietnam War was
a the Vietnamese understood the local
terrain hetter.
b, the lack of support for the war from the
American people,
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44.

47,

43,

43,

50,

c. the falure of the U5 to mobilize its
military strength

d. their inshility to fight a war on terms
other than those they understood well.

Which of the following staternents does

not describe the “Asian” way of war?

a Indirect attacks without frontal attacks.

h. The swordsman charging forward to
ohliterate the enemy once and for all.

c. Manipulation of an adversary without
his knowledge.

d. Subduing an enemy without fighting

Which of the following 15 not one of Sun-

tzw’ s 1deas?

a Actual combat 1 the principa means of
subduing an adversary.

h. War should be undertalen only after
thorough preparation.

¢ Waris linked to politics.

d. War should not be left to the generals
alone.

The difference in the concepts of war of

Clavsewitz  and  Bun-tzu 15 best

chararterized by

a Classewitz’s support for militarism as
aganst Suntzu’s opposition to it

. their relative degrees of sophistication.

c. their attitude to guernilla war fare.

d. their differing conceptions of _the
structure, titne and sequence of a war

To the Americans, the approach of the

Viet Cong seemed devious because

a the Viet Cong did not fight ike men
out in the open.

h. the Viet Cong allied with America’s
BEMIES,

o the Viet Cofig took strategic adwice
from Mao Zedong:

d. the Viet Congused bows and arrows
rather than conventi onal weapons.

According 66 the author, the greatest

military  surprises in American  history

have been in Asabecause:

a The Americans faled to implement
their military strategies many miles
away from their own country.

b. The Americans were unable to use
their technologies like intelligence
satellites effectively to detect enemy
mowvements.

t. The Americans faled to understand the
Asian culture of war that was based on
stealth and surprise.

d. Clansewitz 1z inferior to Sun-tzu.

tuhad 31

Directions for . 51 to 55; Arrange the sentences
4 B C, and D to form a logical sequence
hetween sentences 1 and 6.

51

52.

Arrange the sentences & B, C, and D to
form alogical sequence between sentences
1 and 6.

1. Making people laugh 15 tricky.

A At fimes, the intended humor may
simply not come off

B. Making people laugh while trying to
sell them something 15 a tougher
challenge, since the commercia can
fall flat on two grounds.

C. There are mahy advertisements which
do amuse but donot even hegin to set
the cash tills ringing.

D Agan itis rarely sufficient for an
dilvertiser simply to amuse the target
audience in order to reap the sales
benetit.

6. There are indications that in
substituting the hard sell for a more
entertaning approach, some agencies
have rather thrown out the baby wath
the bath water.

a CDEaA
b ABCD
c. BADC
d DCBA

Arrange the sentences & B, C, and D to
form alogical sequence hetween sentences
1and 6.

1. Picture a termite colony, occupying a
tall mud hump on an & frcan plain

A Hungry predators often invade the
colony and unsettle the balance.

B. The colony founshes only if the
proportion  of  soldiers to workers
remans roughly the same, so that the
gqueen and workers can he protected by
the soldiers, and the queen and soldiers
can be serviced by the worlters.

. Butits fortunes are presently restored,
hecause the immaohile queen, walled 1n
well below ground level, lays eggs not
only in large enough numbers, hut alzo
in the vatyving proportions required.

D The hump iz alive with worlter termites
and soldier termites going about their
distinct kinds of business,
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53

54,

=2

=N R~

How can  we account for her
mysterious ahility to respond like this
to events on the distant surface?

BADC

DRAC

LADCE

EDCA

Arrange the sentences &4 B, C, and D to
form alogical sequence hetween sentences
1 and é.

1.

=R R

According to recent research, the
critical period for developing language
skills 15 between the ages of three and
five and ahalf years

The read-to child already has a large
vocabulary and a sense of grammar
and sentence structure.

Children who are read to in these years
hawve a far better chance ofreading well
it school, indeed, of doing well in all
their subjects.

Andthe reason iz actually quite simple.
This correlation is far and away the
highest wyet found hbetween home
influences and school muiccess.

Her comprehension of language is
therefore wery high

DACE

ADCE

ABCD

BOCA

Arrange the sentences & B, O and [ to
form alogical sequence hetween sentences
1 and 6.

1.

High-powered outbhoard wmotors were
considered to ¥e onesof the major
threats to the survival of the Beluga
whal es.

With' these, lminters could approach
Belugas within  hunting range and
profit frddn its inner skin and hlubher,
To escape an approaching motor,
Belugas have learned to dive to the
oceat bottotn and stay there for up to
20 nutes, by which time the
confused predator has left.

Today, however, even with much more
powerfiul engines, it1s difficult to come
cloge, becanse the whales seem to
dizappear suddenly jqust when wou
thought vou had them 1n vour sights.
When the frst outboard engines
arrived in the ealy 19305 one came
across 4 and 8 HP motors.

o oot

d.

Fihof B3
Belugas seem to have used their well-
known senstivity to noise to evolve an
‘avoidance”  strategy  to outsmart
hunters and their powerfil
technologies.
DACE
CDAB
ADBC
BDAC

55, Arrange the sentences &, B, C, and D to
form alogical sequence between sentences
1 and é.

.

on oo

. Thasze

A pedagogy  this

The reconstruction of hstory by post-
revolutionary science texts involves
more than a multiglication of historical
misconstructions.

Becanse they aith quickly to acoquaint
the  stodent . with  what  the
conternporary © scientific  community

thinks ut Kiows, textbooks treat the
various cEpenments, concepts, laws
and theories of the current normal
science as separately and as neatrly
seriatitn as possible.

misconstrict ons render
revolutions inwisible, the arrangement
of the still wisthle matenal 1n scence
text implies aprocess that, 1f1t existed,
would deny revolutions a function.

But when combined with the generally
unhistorical ar of science writing and
with  the occasional  systematic
misconstruction, one imMpression  is
likely to foll ow.

techmogue of
presentation 18 unexceptionahle.
Science has reached its present state by
a senes of individual discovenes and
inventions  that, when  gathered
together, constitute the modern body of
technical knowledge.

BaDC

ADCE

DACE

CEDA

SECTION-II

Nomb e of Juestion =58
Directions for . 56 to 7d: Answer each of the
questions independently.

56 The mumher of positive integer walued
pairs (%, v), satisfring 4z - 17y =1 and x
1000 1s:
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a 59 with the number of boarders. The average
h. 57 expense per boarder 13 Rs. 700 when there
Co 55 are 25 boarders and Rs. 600 when there are
d 53 50 hoarders. What 15 the average expense
57, Let g b, ¢ be distinct digits. Conader a per boarder when there are 100 boarders?
two dimt number ‘ab’ and a three digit a 550
mamber ‘cch’, both defined under the usual b, 50
decimal number systerm. If (ab)® = cch and o 540
cch # 300 then the value of b 1s: d. 560
a 1 fi3. Forty percent of the employees of acertain
b 0 compaty are tmen, and 75 percent of the
o 5 men earn more than Rs 25000 per year. If
d @ 45 percent of the company’s emplovees
58, The remainder when 7° is diwided hy 342 earn more than Rz, 25 000 per year, what
1z fraction of the women employved by the
a [ company earn Ba 25 000 per year or less?
h 1 a 21
c. 49 A
d. 341 oo 143
58, Ten points are marked on a straight line d ¥
and eleven points are marked on another fi4. Iffe—dl=11"and |2g — 12| = &, what 15 the
straight line. How many trangles can he tndnitiam possihle walue of gft?
constructed with wertices from among the a -205
dhove points? b 2117
a 495 co 10017
b, 550 d. MNone of these
o 1045 i Ifn=1+ =z wherex 15 the product of four
d. 2475 consecutive positive integers, then which
fill. For a scholarship, at most n candidates out of the following 1sfare true?
of 2n + 1 can be selected. If the numbes of A nisodd
i fferent ways of selection of at least one B nizprime
candidate 15 63, the mamimum number of . n1sa perfect square
candidates that can he selected. for the a A and Conly
scholarship 1a: h. 4 and B only
a 3 co A only
b 4 d. Mone of these
o2 fifi. In a swvey of political preference, 78% of
d 3 thoze asked were in favour of at least one
61.  Thespeed of aratlway engine1s 42 km per of the proposas [ IT and II1 50% of those
hour wheti no compartment 15 attached, asked favoured propozal 1, 30% favoured
and the rediction in speed iz directly propozal 11 and 20% fawoured proposal
proportional to the sguare root of the II1. If 5% of those asked fawoured &l three
ttmber of comparttnents attached. If the of the proposals, what percentage of those
speed of the train carnied by thiz engine is asked favoured more than one of the 3
24 km per hour when 9 compartments are proposals?
attached, the masmum  oumber  of a 10
compartments that can bhe camed by the h 12
ENgine 18] c 17
a 49 d 22
b, 43 7. For two positive integers a and b define
c. 44 the function hia, b) as the greatest
d. 47 commnon factor (gof) of a, b, Let A be aset
fiz.  Total expenses of a hoarding house are of n positive integers. G(A), the gof of the

partly fized and partly varying linearly

elements of set A 1z computed by
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9.

0.

1.

repeatedly using the function h. The
minitmum number of times his required to
he used to compute & 18

a n
b (n-1)
C n

d. MNone of these
The figure helow shows two concentric
drcles with centre O FPOQRS 12 a sguare,
inscrihed in the outer circle. It also
drcutnscribes the inner circle, touching it
a points B, C, D and & What 13 the ratio
of the perimeter of the outer circle to that
of polygon ABCD?

P B 0

NN
<

/4

a
h. 3wz
oo mid
d =

Three labelled boxes contaning red and

white cricket balls are all nuslabelled, 1bis

kenown that one of the hoxes contains only

white halls and one only red.halls The

third contains a mizture of red and white

ballz. ¥Vou are requiredto, comrectly label

the hoxes with the labels red white and

red and white by picking 4 sample of one

hall from only one hozx What 15 the lahel

on the hozaol should sample?

a Whit

b, Red

c. Red and White

d. Mot possible determuine from a sample
of one hal

Ifn= 123456787654321, whatisn?

a 12344341

h. 1235789

c. 11111111

d 1111111

Abraham, Border, Chatlie, Dennis and

Eltmer and their respective wives recently

dined together and were seated at a

croular tahle. The seats were so arranged

that men and women alternated and each

woman was three places distant from her

T2

T3

74

hushand. Mrs. Charlie sat to the left of Mr.
Abraham. Mrs. Elmer sat two places to the
right of Mrz. Border. Who sat to the right
of Mr. Abraham?

a DMrs Dennis

h. Idrs Elmer

c. Mrs. Border

d. Mrs Border or Mrs. Dennis

Mawjivan Express from Ahmedabad to
Chennat leaves Ahmedabad o 6:30 am
and travels at 50 km per hour towards
Baroda situated 100 kms away. At 7:00 am
Howrah Ahmedabad express leaves
Baroda towards Ahmedabad and travels at
40 km per hour. &t 730 Mr. Shah, the
traffic controller at Baroda realizes that
hoth the trains are munning on the same
track. How smuch fime does he have to
avert head-on’ collision hetween the twao
traine?

a ol 5 minutes

b Zlmitnutes

C. 25 minutes

dh 30 minutes

There 1z a circle of radius 1 om. Each
member of a sequence of regular polygons
S 1(n) nd, 5 6, ., where n1s the number
of sides of the polygon, 13 circumscoribing
the crcle; and each member of the
sequence of regular polygons 32(n), n =4,
5.6,..., where n 15 the mumber of sides of
the polygon, 15 inscribed 1o the arcde Let
Li{n) and L2(n) denote the penmeters of
the corresponding polygons of S1in) and
S2(n). Then [LIJI3 + 2x/L2] 17 15

a greater than m/4 and less than 1

b, greater than | and less than 2

c. greater than 2

d. less than m'4

There 15 a square field with each side 500
tnetres long. It has a compound wall dong
itz penimeter. At one of its comers, a
triangular area of the field 1z to he
cordoned off by erecting a straight-line
fence The compound wall and the fence
will form 1tz horders. If the length of the
fence iz 100 metres, what 13 the masmmum
area in square metres that can be cordoned

off'y

a 2,500
b 10,000
c. 5,000
d. 20,000
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Directions for Q. 75 to 77: These questions based
of1 the sttuation given helow:

Ten coing are distnbuted among four people B, )
E, 5 such that one of them gets one coin, another
gets two coing, the third gets three coins and the
fourth gets four coins. It 15 known that O gets
more coins than P, and 5 gets fewer coins than R

75 If the number of coins distrbuted to Q12
twice the number distnbuted to P then
which one of the following is necessanly
true?

a F getsan even number of coins
h. R getsan odd number of coins
c. 5 gets an even number of coings
d. 5 gets an odd mumber of coins

Th. If B gets at least two more coing than 5,
then which one of the following 1s
necessarily true?

a ) gets at least two more coins than 8
h. () gets more coins than P

c. P gets more coing than 3

d. P and Q) together get at least five coins

T If Q) gets fewer coins than B, then which
one of the following iz not necessanly
true?

a Pand Q together get at least four coins
h. ) and 5 together get at least four coifis
c. R and 5 together get at least five coins
d. P and R together get at least five colns

Directions for Q. 78 to 80: These gqueshions are
haszed on the situation given helow:

A voung gitl Roopa leaves home with = flowers,
goes to the hank of a nearhy river. On the hank of
the river, there are fourplaced of worship,
standing in a row. She dips allithe = flowers into
the niver. The number of dowers doubles. Then
she enters the (Orst place’ of worshup, offers v
lowers to the deity. She dips the remaning
Aowers into the ri%er, and again the number of
Aowers doubles. She goes to the third place of
worship, offers v fowers to the deity. She dips the
remaning flowers into the river, and again the
mumber of flowers doubles. She goes to the fourth
place of worship, offers v flowers to the deity.
Mow she isleft with no flowers in hand.

TE. If Foopa leaves hote with 30 flowers, the
tmber of flowers she offers to each deity
1s:

a 30
h. 31
. 32

Pl oof 2%
d. 33
79 The rnimum nwmber of Howers that
could be offered to each deity s
a 0
b 15
c. 16
d. Cannotbe deterruned
a0, The runmum mumber of flowers with
which Foopaleaves hotne 18
a 14
b 15
c. 0
d. Cannotbe deterruned

Directions for ). 81 to 82:(The following tahle
presents the sweetness of ditferent items relative
to sucrose, whose sweetnessis talcen to he 1.00.

Lactose .14
MMaltase 0.532
Cluchse 074
UG sE 1.00
Fractose 1.70

Sacchann 675.00

81 What 15 the minmum amount of sucrose
{to the nearest gram) that must be added to
onie-gram of saccharin to make a mixture
that will he at least 100 times as sweet as
glucose?

a 7
b 8
c. 5
d. 100

82, Approximately how many times swester
than sucrose 13 a mixture consisting of
glucose, sucrose and fructose in the ratio

of 1:2:3%
a 1.3

h 1

c. 0.4

d. 2.3

Directions for gquestions 83 and 84: These
questions are based on the situation given below:
A B C,DEand F are a group of fends from a
club. There are twao housewives, one lecturer, one
architect, one accountant and one lawyer in the
group. There are two martied couples in the
group. The lawyer iz matried to D who 13 a
housewife. Mo lady in the group iz either an
arclutect or an accountant. C, the accountant, 1z
tarried to F who 13 a lecturer. A 15 marned to D
and £15 not a housewtfe,
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83. What 15 E?

a Lawyer
b, Architect
c. Lecturer
d. Accountant
24 Flow many members of the group are
male?
a Z
b, 3
o 4

d-. Mone of these

Directions for . 85 to 86: These questions are
haszed on the situation given helow:

Sewven university cricket players are to he honored
at a special luncheon The players will he seated
on the daiz dlong one side of a single rectangular
table.

& and G have to leave the luncheon eatly and
must be seated a the extreme nght end of the
tahle, which 15 cdlosest to the ezt

B will receive the Man of the Mach award and
rst be in the centre chair,

C and D, who are bhitter rivals for the position of
wicket keeper, dislike one another and should be
seated as far apart as possible

E and F are hest friends and want to sit together.

B4 Which of the following may not he seated
i either end ofthe table?
a C
b. D
c. G
d F

6. Which of the followine paits may not he
seated together?

a E&£A
b, B&D
e C&F
d G&D

Directions for (). 87 and 88: Theze questions are
hased on the sitnation given below:

& rectangle FREU, iz diwided into two smaller
rectangles POTU, and QRST by the line TQ. PQ
= 10cm, QR = Scm and RS = 10cm. Points & B,
F are wathin rectangle PQTU, and points C, D, E
are within the rectangle QRST. The closest pair of
points among the pars (A, C), (& D), (4 E), (F,
Cy, (F, D), (F, E), (B, C), (B, D), (B, E) are cm
apart.

7. Which of the following statements i1z
necessanly true?

B3 ad B3

a The closest pair of points among the
si% gven points cannot he (F, C).

h. Distance hetween A and B is greater
than that betwesn F and C

c. The closest pair of points atnong the
siz. gven points 15 (C, DY, (D, F), or
(C, F)

d. MNone of these

84, BxAF>BF, CD=>DE>CE; and BF =
6v¥5cm Whichis the closest pair of points
among all the six given points?

a B F

h C. D

c. &R

d. Mone of these

Directions €. 82 to@2: These questions are based
on the situation given beldw:

In each of the questiogs 89 to 92 a pair of graphs
F(z) and Fi{xz)is given. These are composed of
straight-line segments shown as solid lines, in the
domain xe (-2, 2.

IfFliz)= -F(x) choose the answer as a,

IfF1{z) = Fi- ) choose the answer as b,

IfFl{x) = -F(- ) choose the answer asc;

And if none of the ashove 15 true, choose the
answer asd.

a9,
- X
]
. -1
a a
b b
Lo
d d
90,
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Hiad 3%
TL"!'#J & Flix]
.
‘| S
2 ! 2% R
I
[ - PI— —
i a3
., a a
A Fi(x] L b
= C C
d d

Directions for 3. 23 and 94: These questions are
2 3 — P hased on the situation given helosw

' There are in hlue veszels with lnowmn volumes v,
Vi, .. W atranged in ascending order of volume,
where v = 0,5 litre, and v < 1 litre. Each of these
1z full of water imfially, The water from each of

-2 these 1s emptiedanto @ mintmum number of empty
a a white wvessels) each having wolume 1 lure The
h. b water fromoa hlue wessel 15 not emptied into a
LoC white weasel unless the white vessel has enough
d d empty woluile to hold &l the water of the blue
3. vessel The number of white vessels required to
4 empty all the blue vesszels according to the above
3 rules was 1.
ke * x 93, Among the four walues given helow, which
“\ 1z the least upper hound on e where e iz
the total empty wolume in the n white
vessels atthe end of the sbove process?
R F a4 MWV
S PO b, m(l - vy
i ; C. mwv)
: dgx d mil -wv)
. 5 84, Letthe mumber of white vessels needed be
E . ; ry for the emptang process described
C A ah = ahowe, 1f the volume of each white vessel
. 1z 2 litres. Among the following vaues
i a which iz the least upper bound on
b b a mi4
L. ¢ b stnallest integer greater than or equa
d d to (n/2)
9z, c n
A PN d. greatest integer less than or equal to
! (ni/2)
Directions for Q. 95 to 97: These questions are
3 " based on the situation given below:
There are fifty integers aj, ag,......as, not all of
them necessanly different. Let the greatest integer
of these fifty integers he referred to as G, and the

smallest integer he referred to as L. The integers
ay through ay form sequence 51, and the rest form
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sequence 52, Each member of 51 15 less than or
equal to each member of 52,

95 Al walues in 31 are changed in sign, while
those 1n 32 reman unchanged Which of
the following statement 15 true?

a Every member of 51 is greater than or
equal to every metnher of 32,

. Gisin 31

c. If dll numbers onginally in 51 and 52
had the same stgn, then after the
change of sign, the largest number of
Sland 521510 51,

d. MNone of these

94, Elements of 31 are in ascending order, and
thoze of 52 are in descending order,
and ays are interchanged Then, which of
the following statements is true?

a 51 continues to bein ascending order

b, 52 continues to be in descending order

c. 91 continues to be in ascending order
and 52 in descending order

d. MWone of these

a7 Every element of 51 1z made greater than
or equal to every element of 52 by adding
to each element of 31 an integer z Then x
cannot be less than:

4 210

b, The smallest value 0f 32
¢. Thelargest value of 52
d. (G-L)

Directions for Q. 98 to 100 These guestions are
hased on the situation given helows

Letx and v he real mumbers and let

(z y)=|z+¥l

Fifiz, v))= - fiz y) and Gifiz, y)) = -Fif(z, v))

98, Which of the fallowing statement 15 true?
a Fiflz "9).0(f v = -Flfiz. v
Gfz, v
b Fiflz y))  G(fiz, v)) » -Fifiz, ¥)).
Gz, y))
c. Fifiz v . Glfz y) = Gz v
Ff(z v))
d. Fjllif(‘& v+ Gz, vy + fiz v = fil= -
¥
29, What 15 the value of f{G{fi1, 00, fF(f1,

21, 3‘3( NENNY

oo
= o [

Thad 3%
100, Whach of the following expressions vields
% asits result?
Fifiz -z Glf(x, -x)
Fitlz =) . Gifiz =) 4
-Fiffz =) Gifiz 2) + loglé
Bz, =0 (= =)

ap oo

Directions for gquestions 101 and 102: These
gquestions are hased on the situation given helow:
A robot moves on a graph sheet with x and y-axes.
The robot 13 moved by feeding it with a sequence
of instructions. The different instructions that can
he uzed in moving 1t and their meanings are:

Instniction Ieaning

GOTO(x, v) | Move to point with coordinates
(= w) nootnaltier where you are
currently

WALKZ | Moye parallel to the x-ams
through & distance of p, in the
positive direction 1f p 15 positive,
and in the negative direction 1f p

1z negative,

WALEY (p) /| Move parallel to then v-ams
through a distance of p, in the
positive direction 1f p 15 positive,
and in the negative direction 1f p
1z negative,

101,  The robot reaches point {6, &) when a
sequence of three instrictions 15 executed,
the first of which 18 a GOTO(x W
instruction, the second 15 WALKI(Z) and
the third 15 WALKY (4). What are the
values of x and v7

2

=T = ]
M“-hl:l[\-\_'l
i T W O s R

E

102.  The rohot 15 tnitially af (o v, 2> 0 and v
< 0. The tnimmum nutnber of instructions
needed to be executed to bring it to the
origin (0, 03 if vou are prohibited form
using the GOTO instruction 15

a 2
b 1
c. X+ 7Y
d 0

Directions for 3. 103 to 105: These questions are
hased on the situation given helow:

& road networle (shown in the figure helow)
connects cities A B, C and D All road segments
are straight lines.
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Dr1sthe mudpoint on the road connecting & and C.
Foads 4B and BC are at nght angles to sach other
with BC shorter than AR, The segment 4B 12 10
lan long. Ms X oand Mr Y leave 4 af 8:00 am,
talce different routes to cty C and reach at the
same time. X takes the mghway from & to Bto C
and travels at an average speed of 61,875 lan per
hour. ¥ takes the direct route AC and travels at 45
lan per hour on segment AD. Yz speed on
segment DC 18 55km per hoar.

B : R
D
A
103,  What 15 the average speed of ¥V in km per
hour?
a 475
h. 495
c. 50
d 52

104,  The total distance travelled by ¥ during
the journey 15 approxmately

a 105km
b, 130km
c. 130km

d. Cannot be determined
105 What 1z the length of the road segient
BD7
a S0km
b, 52.5lkom
o 55km
d. Cannot be determinéd

Directions for . 106 and 107: These questions
are hased on the situation given helow

Rajiv reaches city B fom oty & in 4 hours,
driving at the speed of%5 km per hour for the first
2 hours and a 45 lol per hour for the next two
hours. Adit follows the same route, but drives at
three different speeds: 30, 40 and 50 km per hour,
covering an egual distance in each speed segment.
The two cars are similar with petrol conswnption
characteristics (km per litre) shown in the figure
helow,

-~

Mllenge X
B o lilf o 16 1&

ihad B
106.  The amount of petrol consumed by Adit
for the journey 15

a 8.3 ltres
b, 8.6 litres
c. 8.9 litres
d. 9.2 litres

107 Zoheb would like to drive Aditi’s car over
the same route from & to B and minirmize
the petrol consumption for the trip. The
amount of petrol required by him 1s

a f.67 litres
b, 7 litres

¢ 6.33 litres
d. 6.0 litres

Directions for €. 108 to 110: These questions are
hased on the situation given helow:

Fecently, Ghosh Babu spent his winter vacation
ont Kyaleya Island. Dunng'the wacahion, he visited
the local cading wherehie came across a new card
game. Twao plavers, usng a normal deck of 52
playing cards nlay this game One player iz called
the Dealerand the other 12 called the Player. First,
the Player picks a card at random from the deck
This iz caled the base card. The amount in rupees
equal to the face value of the base card 15 called
the hase amount. The face walues of Ace King
Cueen and Jack are ten. For other cards, the face
walue 1g the number on the card. Once, the Flayer
picks a card from the deck, the Dealer pays him
the base amount Then the dealer picks a card
from the deck and this card 15 called the top card.
If the top card 15 of the same suit as the hase card,
the Player pays twice the hase amount to the
Dealer. Ifthe top card 15 of the same colour as the
hase card (bt not the same suit) then the Flayer
pays the base amount to the Dealer. If the top card
happens to be of a different colour than the base
card, the Deder pays the base amount to the
Flayer.

Chosh Babu played the game 4 timnes. First
time he picked eight of clubs and the Desder
picked queen of dubs. Second time, he picked ten
of hearts and the dealer picked two of spades
Mext time, Chosh Babu picked six of diamonds
and the dealer picked ace of hearts. Lastly, he
picked eight of spades and the, dealer picked jack
of spades. Answer the following questions hased
o1 these four games.

108, If Ghosh Babu stopped playing the game
when his gain would be mammized, the
gain 1n Rs would have heen
a 12
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h. 20
c. 1A
d 4

109, Theinitia money Ghosh Babu had (hefore
the beginning of the gate sessions) was
Es. X, At no point did he have to borrow
any money. What 15 the minimum possible

value of X7
a 1d

h. &

c. 100

d 24

110, If the final amount of money that Chosh
Babu had with him was Rs. 100, what was
the 1nitial amount he had with lnm?

a 120
h. 8
c. 4
d. 94

. SECTION.IL |
Number of (ueslion = 55

Directions for €}. 111 to 120: Each gquestion of
five statements followed by options consisting of
three statements put together in a specific order.
Choosze the option which indicates a walid
argumment, that 15, where the third staterent 16 a
conclusion  drawn  from  the preceding. two
statements.

Ezample:

A All cigarettes are hazardous to_health

BE. Brand X 1z a Cigarette.

. Brand X iz harardous to bealth.

ABC 1g a valid option, where statetnent C can he
concluded from statetnents A and B

111.

A Al ( software” commpanies  employ
knowledge workers

B. Tara Tech employs  lknowledge
workers

. Tara Tech is a software company

D. Some software companies employ

knowledze workers
E Tara Tech employs only knowledge

workers
a ABRC
b ACE
c. COB
d ACE

112

e

Traffic congestion increases carhon
monozxde in the environment.

113

114,

115

114,

mp oo

S B

R

N < N N oW

A0 SR E QW

PO SE MDOWE

Fhad 3%
Increase in  carthon monozide 1z

harardous to hedth

. Traffic congestion 15 harardous to

health.
Some traffic congestion does not cause
increase carbon monoxide,

Some traffic  congestion 1z not
hazardous to health.

CBA

BDE

CDE

BALC

Apples are not sweets.
Some apples are sweeh
A1 sweets are fasty,
Somme apples are hot tasty.
Mo appledstasty,

CEA

EDC

CED

EarC

Somme towns in India are polluted.
Al polluted  towns  should  be
destroved.

Town Meghana should he destroyed.
Town Meghanais polluted.

Some towns in India should be
destroyed.

BDE

BAE

ADE

CDE

Mo patriotis a criminal.

Bundledas isnot a critmnal.
Bundledas 15 a patriot.

Bogusdas isnot a patniot,

Bogusdas 15 a criminal.

ACE

ABC

ADE

ABE

. Ant eaters like ants.

Boys are ant eaters.
Balararn iz an ant eater.

. Balaram likes ants.
Balaram may eat ants.
DCa
ADC
ARE
ACD
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117
& All actors are handsome.
B. Sotne actors are popul ar
. Rarn.ishandsome.
D Ratn is a popular actor,
E. Somepopular people are handsome
a ACD
b, ABE
c. DCA
d EDC
118
& Modern industry 15 technology dnven.
B. BTI1samodem industry.
. BTIlistechnology driven
D. BTImay he technology drven.
E. Technology driven industry 12 modern,
a ABC
h. ABD
c. BCA
d. EBC
119
A A1l Golmal 1slanders are blue coloured
people.
B. Some start people are not blue
coloured people.
. Somebabies are blue coloured.
D. Somebabies are smart.
E. Some smat people are not Golmal
1glanders.
a BCD
h. ABE
c. CBD
d. MNone of these
120
& MBAsarein great demand
B. Ram and Sita aréin greal demand.
. Ratnisin great demand.
D Sitaisin oreat desdand.
E. Ram/and Sita are MBAs,
a ABE
h. ECO
c. AEBR
d EBA

Directions for . 121 to 124: Each question has a
main statement followed by four statements
lahelled & B, C and . Choose the ordered pair of
statetnents where the first statement implies the
second and the two staternents are logically
consistent with man statement.

121,  Either the orang-utan 1z not angry, or he
frowns upon the world.
& The orang-utan frowns upon the world,

Idof 3%
The orang-utan 15 not angry.
The orang-utan does not frown upon
the world,
. The orangutan 12 angry.
CE only
Dé only
AP only
. CB and D&
122, Either Favanais ademor or heis a hero.
. Ravanais ahero.
Fawvanais ademon.
Ravanais not a demon.
Favanais not ahero.
CDr only
BA& only
CDand BA
. DB and CA
123, Whenever Bajesv uses the internet he
dreams about spiders.
Fajgevidia ot dream about spiders.
Fajeev used the internet.
Rajeew dreamt about spiders.
Fajeev did not use the internet.
Al
b
CB
. DA
124 If I talk to my professors, then I do not
need to take a pill for headache.
A Ttalked to tmy professors.
B. I did not need to take a pill for
headache.
I needed to take apill for headache.
I did not talk to my professors.
AP only
DC only
CDr only
AB and CD

PR

==

R TR OO

mo s poawe

o oSR g0

Directions for . 125 to 134: Each question has a
set of four statemnents. Each staternent has three
segments. Choose the alternative where the third
segment in the statement can be logically deduced
using hoth the preceding two, but not just from
one ofthem.

125
A Mo cowhoys laugh. Some who laugh
are sphinzes. Some sphinzes are not
cowboys,
B. All ghosts are fuorescent Some
ghosts do not sing. Some singers are
not fluorescent.
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127

125

P oo

e

o oop

e

mn oo o

=

Cricketers indulge 1n sweaning. Those
who swear are hanged. Some who are
hanged are not cricketers.

Some crazy people are planists Al
crazy  people are whistlers. Sotne
whistlers are pranists.

Aand B

C only

A and D

D only

Al good people are lmights. All
warriors are good people. All knights
are warriors.

Mo foothallers are munisters.  all
foothallers are tough. Some ministers
are players.

Al pizzas are snacks. Some meals are
pizzas. Some meals are snacks.

Some bakers are musk-deer. All
batkers are sloth bears. Some sloth
bears are musk-deer.

Cand D

B and C

A only

C only

Dinosaurs are pre-historic creatures.
Water-buffaloes are not  dinogaurs,
Water-buffaloes are not pre-historic
creatures.

Al politicans are frank Mo frank
people are crocodiles. Moo crocodiles
are politicians.

Mo dianond i guoartz. Mo opal iz
quattz. Diamondsare npals.

Al monkeys“like hananas. Some Gl
Joes like bananas” Some GI Joes are
monkeys.

C only

B only

A and D

B and C

All earthgquakes cause havoc Some
landslides  cause  havoc.  Some
earthquakes canse landslides

All glass things are transparent. Some
curios are glass things. Some curios are
transparent.

All clay objects are brattle. A11 XY are
clay objects. Some X'V are brittle.

. Mo criminal 15 a patriot. Fam 15 not a

patriot. Ramn iz a criminal.

129,

130.

131

pp oo

=

=

mo oo

=

on oo

i

s

SRR
D only
B only
Cand B
A only
LD 15 an actor. Sotne actors are pretty.

LD is pretty
Some men are cops All cops are
hrave. Some hrave people are cops.

_ Al cops are hrave Some men are

cops. Some men are brave.

Al actors are pretty, MD 1: not an
actor; MD1s not pretty.

D only

C only

A only

B and C

All IIMz e it India. Mo BIlMs are 1n
Ivdia Bo 11z are BIMs.

AN LM s are in India. No BIMs are in

India Mo BIMz are [IMs.

Some IIMs are not in India Some
BIM: atre not in India Sore [IMs are
BIMs.

Some IIMs are not in India Some
BIMs are not in India Some BIMs are
[Ihs.

Aand B

Cand D

& only

E only

Citizens of Yes Islands speak only the
truth. Citizens of Ves Islands are
young people Young people speak
only the ttuth.

. Citizens of Yes Islands speak only the

truth. Some Yes Islands are in the
Atlantic. Some dtizens of Yes Idands
are in the Atlantic.
Citizens of YVes Islands spedk only the
truth. Some yvoung people are citizens
of ¥es Islands Some young people
speak only the truth,

. Some people speak only the truth
Some cotizens of Yes Islands speak
only the truth. Sote people who speak
only the truth are citizens of Yes
Islands.

A only
B only
C only
D only
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=
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=
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All mammals are wviparous. Some
fish are wiviparous. Some fish are
marnmals.

Al birds are owiparous. Some fish are
not oviparous. Some fish are birds.

Mo mammal 1z owviparous. Some
creatures are oviparous and some are
not. Some creatures are not marnmals,
Some creabires are viviparous. Some
tnamimals are Wviparous,

Some creatures are mammals.
creafures  are  VIViparous.
mamtnals are Wviparous,

A only

B only

C only

Dr ondy

Botne
B ofne

Many singers are not writers, All poets
are sihgers. Some poets are not wiiters.
Giants climb beanstalks Some chicken
do not clirnb beanstalls. Some chicken
are ot giants.

Al explorers live 1n snowdnfts. Some
penguins live in snowdnfts  Some
penguins are explorers.

Amar 13 taller than Akbar Anthony 1s
shorter than Amar Akbar 15 shorfer
than Anthony.

A only

B only

C only

Cr only

A few farmers “are vocket scientists.
Some rocket Seientists catch shakes A
few farmers catchénalkes.

Foonam 45 v'a  kangaroo. Some
kangaroos ate made of teak Poonam is
tnade of téak

Mo bulls eat grass. &1l matadors eat
grass. Mo matadors are bulls.

Some  dounk: drive Cadillacs. Al
skunls are polar bears. Some polar
hears drive Cadillacs.

B only

Aand C

C only

Cand D

Directions for Q. 135 to 138: These questions are
haszed on the situation given helow:

Tl ~
EQ -
B0 |
400 -
K1
200 4
00

]

dad 31

[—Q— Calez -
|_—l— NﬂlPioﬂt/

S5 Do-6 d&-7 GT-B 8.4

The figure below presents sales and net profit, in
Es Crores of IVP Ltd for the five vears from
1994-95 to 1998-99 During this period, the sales
increased from Rs. 100 Crores to Rs. 680 Crores.
Correspondingly, the net profit increased from Fs.
2.2 Crores to Rs. 12 Crores. Web profit 1z defined
as the excess of sales ower total cosbs.

135

134

137,

138

The highest percentage of growth in sales
rel atiwve to the grevious vear, ocourred in
a 199584

b 1996-97
c 129703
do 1993-99

The highest percentage growth in net
profit, relative to the previous vear, was
achieved i1

a 1993-3%
b 199798
c. 1994-87
d. 1995-94

Defining profitability as the rato of net

profit to sales, IVP Ltd recorded the
highest profitahility in

a 1995-99

b, 1997-9§

c. 199495

d. 1996-97

With profitahility as defined in guestion

137, it can be concluded that

a Profitahility 15 non-decreasing during
the five vears from 1994-95 to 1993-
949,

h. Profitahility 1z non-increasing during
the five years from 1994-95 to 1998-
949,

c. Profitahility remained constant duning
the five vears from 1994-95 to 1993-
949,

d. MNone of the abowe,

Directions for ). 139 to 144

Consider the information provided in the figure
below relating to India’s foreign trade 1997-9%
and the first eight months of 1995-39. Total trade
with a region 15 defined as the sum of exports to
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and imports from that region Trade defict is
defined as the excess of imports over exports.
Trade deficit may he negative.

A TR A B. Germany

C. Cther E1T. IERREN 4

E. Japan F. Russia

. Other East Europe H. OPEC

I Asia J. Cther LD.Cs
K. Others

Source of Imports
1991-98 Imports Into India: $40779 million

1998-99 Imports into India (April-Nov): $28126
rrallion

J Ko
5% 1% % B
5%
16% c
135
H | ¥
T Bi%,
B
G 1%
215,

Destination of Exports
1997-98 Exports from India: $5397%million

1998-99 Exp orts from India (Apr.-Nov): $21436

R
J K
[ % &
T 23%
|
1%
B
H S5
1056
L]
- 14%
E
% gy S%

139 What 1z the region with which India had
the hi ghest total trade in 1337-087
a US4
h. Cther E.1T.
c. OFEC
d. Others
140 In 1997-38 the amount of Indian exports
in millions US §, to the region with which
India had (the lowest total trade, 1z
approz mately,
a.o 7ol
h._-340
co 220
d 440
1410 In 1997-98, the trade deficit with respect
to India, in hillions of U3 5, for the region
with the highest trade defict wath respect
to India, 1z approxmately equal to
a 6.0
h. 3.0
c. 4.5
d 7.5
142, What 1z the region with the lowest trade
deficit with Indiain 1997-387
a UlA
b Asia
c. Others
d. Other E 1T
Additional directions for gquestions 143 and
144: These questions are hased on the situation
given below:
Azsume that the average monthly exports from
India and imports to India dunng the remaning
four months of 1998-99 would be the same as that
for the first eight months of the year.

143 Whatis the region to which Indian exports
registered the highest percentage growth
hetween 1997-95 and 1995-00%

a Other East Europe

h US4

c. Asia

d. Exports have declined, no growth
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144, What 15 the percentage growth rate in
India’s total trade deficit between 1997-98
and 1998-997
a 43
h 47
c. 50
d. 40
Directions for (). 145 to 148: These questions are
hased on the price fluctuations of  four
comminodities - athar, pepper, sugar and gold
during February - July 1999 as described in the
fBoures below:

Arfuar {Friday quobatinns)

25000 :
I
2300 —
'EZ‘DD h!h".\./'\_ f;
fé 1900 i .
m 1700 et |
s P i
F1 F4 W3 AZ A5 NI JHNI U1
Weaks (1959)
Eopper [Friday qostaticns)
20COT - :
£ 19500 4
L=
& 12000 j’é Jf N/
T 18500 L
o VARV 4 W |
17500 4 ""f
AT T r———
FI F4 M3 AZ AS M3 JN2 Ji1
Wieeks {1299}
Sugar [Friday quotations)
1520
e 1500
B : ,"n‘u”'“ e
EHEU \
-§144I:' "J ""
s LY
400 ———————————
F1 FI F3 A2 AN Wl JHZ JL1
- Wooks {159%8)
Gold (Friday gqusations
{ ¥ 1N
4300
< 4200 ==Y o,
¥ VA

j 4100

gmn ' AN

IH e 3
145 Price change of a commodity 15 defined as
the ahsolute difference in ending and
heginning prices expressed as percentage
of the bheginning. What 15 the commodity

with the highest price change?

a Atrhar
b, Pepper
C. Sugar
d Gold

146,  Prce wolatility (FV) of a commodity is
defined as follows: PV = (highest price
during the period - lowest price during the
periodifaverage price during the period,
What 15 the commodity wath the lowest
price volatility?

a Athar
h. Pepper
C. Buga
d. Gold

147 Mr. <3, a2 [inds manager with an
inestment company invested 25% of tus
futids in each of the four commodities at
thes heginning of the period. He sold the
cominodities at the end of the period. His
investments in the commodities resulted
in
a 17 profit
b, 5.5%loss
c. noprofit, noloss
d. 4.3% profit

148 The price wolatility of the commodity wath
the highest PV dunng the February - July
perind 15 approzmately equal to:

a 3%

b, 40%
c. 20%
d 12%

Directions for ). 149 to 153: These questions are
hased on the tahle helow presenting data on
percentage population covered by drinking water
and  sanitation  faclities in selected  Asian
countries.
Fopulation Covered by Drinking War and
Santation Facilities,
Percentage Coverage

Drinlang Water |2 anitation Facility

3500 \\

[Irh an(FouralTotal|Urh an|Rural [T otal

oy ) I— g et e '

Fi F4 M3 AZ AS M3 JHZ JL?
Weeks (1499)

India e | 79[ &1 ] 70 14 ] 29
Bangladeshd 33 | 96 | 97 | 79 | 44 | 48
China 9F | s [ 6T | T4 7 24
Pakcistan | 82 | 69 [ 74 | 77 | 22 | 47
Fhilippines] 92 | &0 [ &6 | 88 | a6 | 77

Indonesia| 79 | 54 |62 | 73 | 40 | 51
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on Lanka| 88 [ 52 | 57| 68 | 62 | 63
Mepal ad | a0 | 63| 58 12 ] 18
Source: World Resources 1998-99 1 251, UNDF,
UNWEF and World Bank
Country A 15 sad to dominate Bor & » Bif Ahas
lhigher percentage in total coverage for both
drinking water and samtation facilibies, and, B 1s
said to be dominated by A or B <4
A country is said to he on the cowverage frontier if
no other country dominates 1t Similarly, a country
iz not on the coverage frontier if it 13 dotrunated
by at least one other country.

149 What are the countries on the cowverage
frontier?
a Indiaand China
b, 511 Lankaand Indonesia
c. Philippines and Bangladesh
d. Mepal and Palastan

150, Which of the following statements are
true?

India= Palostan and India> Indonesia

India= China and India> Nepal

511 Lanka = China

China > Nepal

AandC

B and D
c. A BandC
d B, CandD

151, Usaing only the data presented utnder
Samtation facilities columns it can be
concluded that rural population in India, as
a percentage of itz total (pogulation is
approxitmately.
a 7
h. 70
c. 73
d. Cannothe'deternified

152 Agan using enly the data presented under
Samtation facilities columns, sequence
China, Indéhesia and Fhilippines  in
ascending order of rural population as a
percentage  of their respective total
populations. The correct order: 15
a Philippines, Indonesia, China
h. Indonesia, China Philippines
c. Indonesia, Philippines, China
d. China, Indonesia, Philippines

153 India 1z not on the coverage frontier
because
A it1s lower than Bangladesh in terms of

coverage of dnnking water facilities.
B. 1t is lower than S Lanka in terms of
coverage of sanitation facilities.

=e o ame

TEaof R
. 1t 15 lower than Palastan in terms of
coverage of sanitation faclities.

D itiz dominated by Indonesia.
a AandB

b AandC

c. D

d.

Mone of theze

Directions for (). 154 to 155: These relate to the
ghowve tahle with the additional prowviso that the
gap between the population coverage of sanitation
facilities and drnlking water facilities 13 a measure
of dispanty in coverage.

154, The country wath the tost dispanty in
coverage of mural sectobis

a India
b, Bangladesh
c. Mepal

d. Mone of these
155 The country with the least disparity in
coverage of urhan sector 12
a India
b, Palristan
c. Philippines
d. MNone of these

Lirections Q 156-165: Each question 13 foll owed
by two statements, & and B Answer each
question using the following instructions:

156. The average weight of students 1n a class
12 50 kg What 15 the number of students in
the class?

A The heawest and the lightest members
of the class weigh A0 kg and 40 kg
respectively.

B. Exclusion of the heawiest and the
lightest members from the class does
not change the average weight of the
students.

a ifthe answer can he anewered by using
one of the statements al one, but cannot
he answered using the other statement
alone,

h. if the guestion can he answered hy
either statement al one.

c. if the gueston can bhe answered hy
using both statements together, but
cannot  he answered using  either
statement al one.

d. 1f the guestion cannot be answered
ewven by using  hoth  statements
together.
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A small storage tank 15 sphenical in shape.

What 15 the storage volume of the tank?

& The wall thickness ofthe tank 1z 1 cm.

B When the empty spherical tank iz
immersed in a large tank filled wath
water, 20 litres of water overflow from
the large tank.

a 1fthe answer can he answered by using
one of the statements alone, but cannot
he answered using the other staternent
alone.

b, if the gquestion can be answered by
either statement alone.

c. 1f the guestion can be answered hy
uszsing hoth statements together, hut
cannot he answered using  either
statement alone.

d. 1f the question cannot be answered
even by using hoth statements
together.

Mr. X starts walking northwards along the

houndary of a field, from point & on the

houndary, and after wallking for 150

metres  reaches B, and then walls

westwards, again along the boundary, for

another 100 metres when he reaches C.

What 1z the mammum distance between

any par of points on the boundary of the

field?

& The field 15 rectangular in shape.

B. The field 15 a polygon, with © 2z one
ofits vertices and & the mud point of a
side.

a 1fthe answer can he ahswered by using
one of the statements alone, but cannot
he answered usifig the dther staternent
alone.

b, if the gueshon v be answered by
eithel statement’alone.

c. 1f the quesiion can be answered hy
using hath statements together, hut
cannot he answered using  either
statement alone

d. if the question cannot be answered
even by using bhoth statements
together.

A line graph on a graph sheet shows the

revenue for each year from 1990 through

1998 by points and joins the successive

points by straght line segments. The point

for revenue of 1990 15 labelled A that for

1991 az B, and that for 1992 as C. What 13

the ratio of growth 1n revenue hetween 21-

92 and 90-917

1an0.

141,

Miof 3%

4. The angle between AP and X-amas
when measured wath a protractor 13 40
degrees, and the angle hetween CB and
H-amzis 80 degrees.

B. Thescale of ¥-axizis 1 cm = 1000 Es.

a 1fthe answer can be answered by using
one of the statements dlone, but cannot
he answered using the other statement
alone.

h. if the guestion can he answered hy
either staternent alone.

c. 1f the guestion can be answered by
using both statements together, but
cannot he answered using  either
statement al one.

d. if the guestion cannot he answered
ewen hy using  hoth  staternents
together,

There 15 a carele with centre C at the origin

and fadiusr cin Two tangents are drawn

from at external point D at a distance d cm
frim the  centre. What are the angles
hetween each tangent and the 3-axis?

£ The co-ordinates of D are given.

B. TheX-am:s bisects one of the tangents.

a 1fthe answer can be answered by using
one of the statements dlone, but cannot
he answered using the other statement
alone.

b, if the guestion can be answered by
either statement alone.

c. 1f the gquestion can be answered by
using hoth statements together, bhut
cannot he answered using  either
statement al one

d. if the guestion cannot he answered
evenn by using  bhoth  statements
together.

Find a pair of real numbers x and v that

satisfy, the following two equations

sirultaneonsly. It 15 known that the walues
of a b, c, d, e and fare non-zero.
at+by=c detey=1f

A a=kdandb=ke c=kfk=10

B. a=h=,d=e=2f=2c

a ifthe answer can he answered by using
one of the statements al one, but cannot
he answered using the other statement
alone.

h. if the guestion can he answered hy
either statement al one.

c. if the gueston can bhe answered by
uszing hoth statements together, hut
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cannot be answered using  either
statement alone.

d. 1f the guestion cannot he answered
ewen hy using  hoth  statements
together.

Three professors & B and C are separately

gven three sets of numbers to add. They

were expected to find the answers to 1+ 1,

1+ 1+ 2 and 1+ 1 respectively. Ther

respective answers were 3, 3, and 2. How
tnany of  the professors are
mathematicians?

A A mathematican can never add two
numhbers correctly but can always add
three numbers correctl v,

B. When a mathematician makes a
mistale i a sur, the erroris + 1 or—1

a 1fthe answer can be answered by using
one of the statements alone, but cannaot
be answered using the other statement
alone.

h. i1f the guestion can be answered hy
either staternent alone.

o if the guestion can be answered by
using hboth statements together, but
cannot be answered using  either
statement alone.

d. 1f the guestion cannot he answered
ewen hy using  hoth  statements
together.

How manty among the four students &, B,

' and [ have passed the exam?

A The following 15 a_true statement: A
and B passed the exarn.

B. The following is a falze statement: At
least one among O and D has passed
the exatn.

a 1fthe angwer can be answered by using
one if the statefnents alone, but cannot
he answered using the other staterment
alone.

h. i1f the guestion can be answered hy
either staternent alone,

c. if the guestion can be answered by
using both statements together, but
cannot he answered using  either
statement alone,

1é4.

145

Tiad 3%

d. 1f the guestion cannot be answered
ewven by using  hoth  statements
together.

What 15 the distance x between two cities

Aand B in integral mumber of Kms?

A % satisfies the equation logax = V&

B. x £10 Kms

a ifthe answer can he anewered by using
one of the statements al one, but cannot
he answered using the other statement
alone,

h. if the guestion can he answered hy
either statement al one.

c. if the gueston can he answered by
uszing hoth statefnents together, hut
cannot bhe answered using  either
statement alone

d. 1f the gdestiono cannot be answered
ewven by using  hoth  statements
together

MroMendel grew one hmndred fowering

plants from black seeds and white seeds

each seed giving rize to one plant A plant

gives Howers of only one colour. From a

hlack szeed comes a plant giwng red or

blue flowers. From a white seed comes a

plant giwing red or white flowers. How

tnany black seed:s were used by Dr

Iendel?

& The number of plants with white
flowers was 10

B. The numhber of plants wath red flowers
was Tl

a ifthe answer can he anewered by using
one of the statements al one, but cannot
he answered using the other statement
alone,

h. if the guestion can he answered hy
either statement al one.

c. if the gueston can bhe answered by
using both statements together, but
cannot  he answered using  either
statement al one.

d. 1f the guestion cannot bhe answered
ewven by using hoth  statements
together.
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